14th March 1834

Prefeascr Haldane
Departments of hiibg,
Universlty Cellege,
‘Ijﬂ 11.

Dear Haldane,

In yeur oasy 5 ¢ with equal frequencies
and randem mabing smeng the two differsnt kinds eof
deubls heterezygebe,supposs a family has ¢ deubles
recessives, b single recessives, and g nen-recdssives
then ene can give such a famlly = value

k- (a-3Ft9:)"= (ot +8c)

and the statistio ehkained by averaging all the
families ebssrved will be effiolent in the limib
for loeses linkage, If in practlce some of fhe
familiss ars unshssrvable, e.g, thess in which there
15 neither a doubls recsssive ner beth kinds of single
recesaive, the same cosfficismb can be used,but the
result must be squated te = different funotlien of the
recombination value,

When all sypes of family are observable
this givesl.” 5~ (*7') Which should serve %e
gheok up the efficiengoy of obther methods such as



Bernateina’, I do nat knew how thess results omn
best be preved, as I muddled thll- out rather olumsily
in view of their real simplicity ms a commenssnse -mebhed
for cemparisen, sinse a-J(+j. 48 an sffioleny best

of signifioant linkage in a single family, I dried,

befers knowling the real wedulj,

Re(a~36 t9¢) =9 (a tbte)
in Yhe came S5-i  where it elloits 128/47 instend of

128/287 units of infermatien respescting 5, se that guess
was pretty inefficlent,

I sm enolesing your note,

Yours sincerely,



